


















Choose a figure which would most closely resemble the unfolded form of Figure 

(A) (B)                 (C)                       (D)



Find the missing :-

(A) 4
(B) 5
(C) 6
(D) 7
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3 6 9 4

2 5 1 8

1 6 4 ?



Find the option which should replace (?)
58 * 12 = 4
37 * 96 = 5
11 * 20 = 2
42 * 12 = ?

A. 2
B. 3
C. 4
D. 5



Find the missing  :-

1. 24
2. 26
3. 30

4. 28
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Statements : A > C ≥ T > I ≥ O > N

Conclusions: I. A > N

II. C > O

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.

Question -1



Statements : A = B ≥ C = D ≥ E = F 

Conclusions: I.  A ≥ F
II.  A = F

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.

Question -2



Find the option which should replace (?)

4 : 5 :: 6 : ?

(A) 9

(B) 8 

(C) 5 
(D) 4



Find the option which should replace (?)

63 : 46  :: 18 : ?

(A) 100

(B) 121

(C) 144
(D) 169



Find the missing  :-

1 : 4, 3 : 14 : : 5 : 32, 7 : ......

(A) 58 
(B) 79 
(C) 85 
(D) 97
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Find the missing  :-

(A) 535
(B) 577
(C) 755
(D) 775
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5 6 7

3 4 5

9 10 11

345 460 ?



Statements:

No apple is a plum. 

All plums are oranges. 

All oranges are mangoes. 
Conclusions: 

I. All plums are mangoes. 

II. At least some mangoes are 
oranges.

EXAMPLE

कथन: 
कोई सेब बेर नह ीं है।

सभ प्लम सींतरे हैं।

सभ सींतरे आम हैं।

ननष्कर्ष: 
सभ प्लम आम हैं।

कम से कम कुछ आम सींतरे हैं।



Statements:

No apple is a plum. 

All plums are oranges. 

All oranges are mangoes. 
Conclusions: 

I. All plums are mangoes. 

II. At least some mangoes are 
oranges.

EXAMPLE



Statements:

All animals are mammals. 

No mammal is reptile. 

All reptiles are amphibians. 
Conclusions: 

I. All animals are amphibians. 

II. Some amphibians are 
mammals 

EXAMPLE

कथन: 
सभ जानवर स्तनधार हैं।

कोई स्तनपाय सर सृप नह ीं है।

सभ सर सृप उभयचर हैं।

ननष्कर्ष: 
सभ जानवर उभयचर हैं।

कुछ उभयचर स्तनधार हैं



Statements:

All animals are mammals. 

No mammal is reptile. 

All reptiles are amphibians. 
Conclusions: 

I. All animals are amphibians. 

II. Some amphibians are 
mammals 

EXAMPLE



Find the missing term(?)

REASON : 13 

CHAIR : 11

EXAMINATION : ?

(A) 22

(B) 11

(C) 23
(D) 12  



Statements: 

Some buses are cars. 

No car is ship. 

All ships are bikes. 

Conclusions: 

I. Some buses are not bikes. 

II. No bike is ship.

EXAMPLE

कथन: 
कुछ बस कार हैं।

कोई कार निप नह ीं है।

सभ जहाज बाइक हैं।

ननष्कर्ष: 
कुछ बसें बाइक नह ींहैं।

कोई बाइक निप नह ीं है।



Statements: 

Some buses are cars. 

No car is ship. 

All ships are bikes. 

Conclusions: 

I. Some buses are not bikes. 

II. No bike is ship.

EXAMPLE


